ORAL2EST_PAR. ct |
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$PROBLEM TWO COVPARTMENT SI NGLEDOSE ORAL ; DATE = 6/ 2/ 04 PROGRAMVER=XXXX

;Units: Time=hr, Concentration=ug/m,
; Dose = 100ng or 250ngy
; Clearance = L/hr, Volune =L

$DATA ORAL2EST_PAR. CSV | GNORE=C

$I NPUT | D TI ME CONC=DV AMI DOSE MDV

$SUBROUTI NE ADVANA TRANS4

$PK
CL
V2
Q
V3
KA

S2

$ERROR

THETA( 1) * EXP( ETA( 1))
THETA( 2) * EXP( ETA( 2))
THETA( 3) * EXP( ETA( 3))
THETA( 4) * EXP( ETA( 4))
THETA( 5) * EXP( ETA(5) )

V2

| PRED=F

Y=F+F* ERR( 1) +ERR( 2)

$THETA (1, 10)
$THETA (1, 30)
$THETA (1, 10)
$THETA (1, 20)

$THETA (0. 1, 3)

$OVEGA
$OVEGA
$OVEGA
$OVEGA
$OVEGA

$SI GVA
$SI GVA

= O

coooo

.09
09
09
09
09

. 0025

i

POPCL/ F
POPV2/ F
POPQ F
POPV3/ F
POPKA

BSVCL/ F
BSW2/ F
BSVQ F
BSW3/ F
BSVKA

; ERRCV
; ERRSD

; CLIF

V21 F

T QF

; V3IF

; Absorption rate constant

; Scal ing factor

; Addi tive and proportional residual error nodel

$ESTI MATI ON METHOD=0 MAXEVAL=9999 PRI NT=5 POSTHOC
$COVARI ANCE

$TABLE | D TI ME DV | PRED DOSE
NOPRI NT ONEHEADER FI LE=ORAL2EST_PAR. FI' T
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